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¢4. 4; Length of train = 54“|4“ﬁ
= 210 metres
* Time taken by the man to cross the
| _ 210x18 5561
stationary train = —o—C
= |08 seconds
45. 5. Ratioof profit A: B : C
So, A ' B - C
18000=1 5x 15000=x  12000=2x
or, 27x 15x 24%
Ox ! §x Bx
Now, 5x = 2725
2725
Bx = x8 = ¥4360

. C's share in profit = T4360
46. 4; Let the speed of the current be x kmph.

o ° . % _,
N 124x 12-x

N2-x+12+x) 1

144 - x?
24 x9
144 - x?
or, 144 - x! = 108
or, x' = 36
S x =6 kmph
Quicker Approach: When we reach at the
stage
9 " 9 <2
12+x 12-x
it comes 1o our mind that x shoudld be a
multiple of 3, because RHS is a whole number
and LHS has numerators and parts of
denominators as multiple of 3. So, select the

suitable choice and verify the equation,
Choice (4) 6 km/hr satisfies the equation as

or, <

=2

2.3 1.3
186 222

47. 4, Towl quantity of mixture is 91 litres,
Now, 26 litres mixture is taken out.

. Remaining mixture = 9] - 26 = 65 litres
qu. 5 litres pure water is added to the
mixiure

Now, totel quantity of mixture = 65 + § = 70
litres.

" Tousl quantity of water in the new mixture
- [%nhi-]lﬂhru

15 150 3
o w00 « —% = 2|~
Reqd % % 7 % IIT%

Metbod 11, Total quantity of mixture = 9|
litres

Now, 26 litres mixture is taken out
. Remaining mixture = 9] - 26 = 65 litres
Ratio of milk to water in the mixture is

FBE ]
r 831 1mss -9%-1-10 |
13 1 ]*5 litres 1» wailor
LR 14 added

. New mixture = 55 + 15 = 70 litres
.. Required % of water in the new mixture
15 150 3

M1 =@ (R (12)
« 2200 64 144 ~ 2001 ~ 2010

095, JJa8 + Jao00 » 76 188 74 7
s 7570 %9~ 184 -;-

| )
- — x9 4 - —
’Jm ~ 184 -3

L O w184
. — [} = —
= 3 7

IIM?:1
= "-T

T (184 =3) x 7= I8l x 7= [267
80. 4, (10" x 3.465 + 10" = 0.253) + (120 ~
10%) = 10" + 2

10'! x3.4654+10'2 x0.253 107
or, 6 e
10% x12 2
| . 10°x3465+10°x0253 _10"
' 12 )
- 10°@465+2.530) _ 10"
12 2
or, 10" = 10*
- 13&3+i.5—|a4 SEEL
" 287-184 _,,
?
V= —
or, T w447 =5
52. 5
2 2
42+24)° _(660) o
?-[ = ] '[zz) = (30)% =900

§3. 3; 7 x 19 = (9000 + 40) x 45

9000 9000 81000
0 x45= - :-:9-—--3—-]0125

10125
19

= 532.89 « 540

S, T

54, | 4.5:3.2:~J625 =12$+|l4

s = Tﬁ =Q6= 10

oI5+ 24x0.5 _
' /10247

v’i = J102+7
uering
102

both sides, we get
+*1?

85. 4 3

or,

le l"!

g d02

£6.2,7 + 25

< I+-I—v t| JI

o)
Jzuu J:'.?n

" i
144 625

17 24 27 27

21
34

, 44
§76

J.,

By — i -
12 25 34 25

i e lxi§=1T
T 25

§7.5.65 x9+7=101+ J256 =101 + 16

= |17
" 65:-:9_5 -
L R AT
| §8. |; *;‘ of 1440 + 40% of 3550 - 7 = 61!
5 2
or, 3 x 1440 + 3 x 3550 - 617 =7

or, S x 480 + 2 x 710 = 3721 =7
or, 7 = 2400 + 1420 - 3721 =99

3
§9, 2: 7 + (25% of 289 - 31; ) =02

& 131

—x289———| =
u4“ 4] 02

(289131
. 4

or, 7 +

—
-

or, 7 + 0.2

2] =
or, 7 x 158 0.2

0.2x158
= 3 =02x395=179

60.3. 84 + 14 =7 x 105 = 8.25
™ 105

B4+ 196 = ——
= 196 = 5325

280x8.25 230:3+230:¢%

LlE— =

105

- 105

- 124“_‘1' 70 2310
105~ 105 22

61.2; (12.5 x 14) + 20 + 4125 = ()" ~ 2.5
(?)°

——————

2.5

or, 8.75+4125=



. S0r25=7
e |2§

. N = \1’515:5 =

61.2:036 = 036 + 028 x 036 + 0.14

. (a+b)=a'+2ab+ b

50, (036 + 014y = (0.5 = 0.25

6. 3. Let Diya’s monthly salary be T100.
Now, she spends (12 + 24 + 30)% = 66%

. Remaining amount = 100 - 66 = T34
Now. again she spends 60% of T34 on fixed
deposit

- Remaining amount = 40% of T34 =T13.6
Since. 100 = 26500

26500
» 13.6m =50 x13.6 =265 x 13.6 =T3604

64. 5. Monthly ratio of eaming of P to Q:
P Q
4x 7x
¢+Zﬂ'fn (increasc) \L—dﬂ% (decrease)

4x1.2x 7x- X2 21x
5 5
21
. 4 8x 5
48xx5 8
N Sl 9

So, we can’t determine the amounts of
monthly eamings of P and Q.
Note: Since all the given values are in ratio
or % (and no absolute valuc is given), we
can’t find the solution.
65. 1. - y=5x
y+l
"x+19
Sx+1 3

_I ——

x+19 1|
o, S+ | =3x + 57
o, 2x = 56
L x=28
S Difference = Sx - x =4x =4 x 28 =112
6. 4. Lat Sita’s present age be Ix.
Then Gita’s present age = 8x

L
|

or,

ix-5 2
Now, Ex-5 7
or, ld4x - 3§ = 16x - 10
or, Sx = 2§
.x=§

Hence the present age of Gita =8 * §
= 40 yeans

Method 11. Sia Gim

Present 3 ]
!m‘.E]_I T]I
Dfficrence w terms of ratio = 3 - 2 = |
= § yeans

o B-T7Tet

" Gtla’s present age = § x § = 40 yeary:
= |

or, 2(b+4 +b)=120

or, 4b = 8 = |20

112

4
Thmar&dmiuﬂ:mm
-ﬂhntlllmmllmlhtbrndthnl'
the rectangle.

22
. Circumference of the circle = nd = L 28

= E8m

68. 5. Avcrage salary of A, B and C is 7200
~. Total salary of A, B and C = 7200 ~ 3

= 21600

Total salary of B, C and D = 7550 x 3

= 22650

5. Let A’s salary be ¥x.

Then D’s salary = T1.25x

Now,B+C+ |25x-x-B-C

= 22650 - 21600

or, 0.25x = 1050

105000 _
e =420

. Average salary of B and C

_ 21600-4200 17400

. =75 = <8700

69,2, The series is +1° + 1, +2' + |, +3 + 1,
+4'+ 1, +52 + |, .

i€ 18+2°+1=2727+3+1=55.
SS5+4+1=120,120+5 +1 =246, ..

70. 2; The series is a combination of two
Series

. 13 154 178 202

e -l I I
+24 424 +24

Il. 10.8 8.2 5.6
L Il |

26 -2.6
71, 4; The series is +15 x |, +15 x 3,
+15 x5 +15 x 7, +15 x9,
ied4+15x1=19, 19+15x3 =64,
64 + 15 x § =139, 139 + 15 x 7 = 244,
244 + 15 x 9 =379
72, 3, The series is +10, +20, +40, +80, +160,
e 7+ 10=17,17+20=137, 37 + 40 =77,
77 + 80 = 157, 157 + 160 = 317, ...
73. |; The series is x0.5 + 2, x] + 2,
x1.5+2, x2+2, ..
€12 x05+2=88x1+2=10,
0x15+2=17,17x2+2=3136
J6x25+2=92
74. 3; Total number of gold bangles sold by

storc R in June, July and August together
= 35% of (145 + 105 + 130)

= 35% of 380 = 11:33!]:-;%:380

100
=7x19=13)
7S. 3, Reqd difference
= (121 + 145) - (89 + 133) = 266 — 222 = 44
76. 3, Reqd average

_ 129+87+165 381

- === %

(S+ T! Auﬂil

(S+ T)September

W e
W T T

=
-
Al

77. 1, Reqd ratio =
" 1144129
220+ 131

177 -120
120

78. 4, Reqd % increase = x 100

57 §Tx5§
- e 0 — =
IZI]I = 5 47.5%

79. 2. Let the cost of cach chocolate he Tx
Then, profit on 25 chocolates

(
= 25x x 20 = 5x
100
i)
Profit on 15 chocolates = 15x ~ ﬁﬁ -4 5x
.. Profit on all (25 + 15 =) 40 chocolales
25
= 40 -
o T o¥
 10x = (5x + 4.5x) = 6
or, 0.5x = 6
S =312
X7 0s T
80. 1; First number Second number
X y
0.5x + y= 0.875x
= y = 0.375x
X 1000 40 8
o= = =t=—=5:3
y 375 15 3
81.3 82. | 83.5 84.31 B5.5
86. | 87. 3 88. 1 89.1 90. 4
91. 4 92. 1 93. 2 94. 4 95, 2
96. 5 97. 5 98. 4 99.5 100, 3
101. 1  102.5 103.1 104.1 "105.3
106. 1 107.2 108.1 109.4 110.2
111. 3 112. 5 113.2 114. 2 1158, |
116. 3 117.3 118.2 119.5 120. 1

121. 2; The appropriate word should be ‘rode’
122. 2; The correct spelling is “marriage’
123. 5

124. 2; The correct spelling is “‘cottage’
125. 1; The correct spelling should be *surged’
(126-130): CEBDFA

126. 3

127.5 128.5 129.1 130.2
I3, 13205 133.4 1345 1353
136. 1 137.1 138.2 139.5 140. 2
141. 1. Replace ‘unfortunate’ with
‘unfortunately’
142. 5

143. 2; Insert ‘that’ before ‘comes’
144. 3: Replace ‘himself” with *him’
145. 4. Replace ‘following’ with *followed

by’

146. 4 147.2 148.2 149.2 150. 5
ISEL.3 152.5 153.3 154.4 185 2
156. 3 157.4 158.1 159.3 160. S

161. 2; INSTRUCTION



The required letters arc S, R, U and O. With
these letter the words that can be formed arc
SOUR and OURS.

(162-166):

telephone lines arc busy —» vk jd ba el (1)
draw two parallel lines —» gn vk hi om . (1)
busy people never draw —» tx ba su hf . (iii)
two lines are intersecling

—+ mi om jd vk (1)

From (i) and (if), lincs -» vk V)
From (i) and (iii). busy —» ba (Vi)
From (i), (iv) and (v), are — jd Vi)
From (i), (v), (vi) and (vil),

telephone — ef Vit
From (ii), (iv) and (v), two = om . (ix)
From (li) and (iii), draw — hf (%)
From (ii). (v), (ix) and (x),

parallel — gn o (x1)
From (iii), (vi) and (x),

people/never — tx/su L (x11)
From (iv), (v), (vii) and (ix).

intersecting — mi LX)
162. 4 163.4 164.1 165.1 166. 5
(167-171):

M

Facing north: H T 'F T I

VWUY T X
167. 4; All others hm only one friend sitting
between the two friends given in each pair.
168. 1 169.3 170.4 171.2

M - M
172.2: PROHIBI1TS

av—
(173-174):

F >3 > H
(172 em)

173. §
174. 4, 160 + B = 168 cm
17S. 2, All keys are locks (A) + Some ldocks
arc irons (I) = A + 1 = No conclusion. Hence
conclusion | does not follow, Neither does
conclusion I1 follow.
176. 4; All instructions are manuals (A) + All
manuals arec rules (A) = A+ A = A = All
mstructions are rules. Hence conclusion |
follows.
Again, All instructions are manuals (A) —
conversion —» Some manuals are instructions
(I). Hence conclusion Il does not follow.

177. 4, Some cards are papers (1) + All papers

> G = |
(160 cm)

arc books (A) = I + A = | = Some cards arc
books Hence conclusion | follows
Again, Some cards arc books (1) + No book 1s
anovel = 1+ 15 = ) = Some cards arec nol
novels. Hence conclusion 1l does not Tollow
17K. 3. Some doors arc windows (1) + No
window i1s a cabinet (1) = 1 + E = O = Some
doors are not cabinets. Ilence neither | nor
Il follows. But the two conclusions make a
complementary E-1 pair. Hence cither
conclusion | or 1l Tollows,
179. 1, I-type statements can't be combined.
Hence neither conclusion follows.
180. 3. First letter of the seccond word from
the le = B
Second letter of the first word from the right
= |
There are six letters between B and | in the
alphabetical order.
181. 4; SLY — LSY;, BUD —» BDU;
MET — EMT, DYE — DEY;
AIM — AIM
182, 1; SLY - RKX; BUD — AVC;
MET — LFS; DYE — CXF. AIM — BIL
183, 5. SLY - SMY: BUD — CUD:
MET —- MFT; DYE — EYE; AIM - BIM
184. 5; SLY BUD MET DYE AIM

— AIM BUD DYE MET SLY
185. 2; In all others, the first letter occupies
the same place in alphabetical order from

the left as the second does from the right,
(186-190);

M
186.5 187.3 188.1 189.3 190. 4
19,4, A<Y=B<X=C=22Z
LASC

Hence conclusion | is true but conclusion 11
IS not true.

192. 1; Given statements:
P<A<R=K (1)
S§2J2R (1)

Combining (i) and (ii), we get
P<A<R=Ks<J<S§
Hence P < ) and conclusion 1 is true
Also. S > K and conclusion 1l is true,
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193, 5, Given stalemenis:
P<=A<R-=-K
5=J-R
Comhbiming (1) and (1), we gel
P<A<R=K=<J]<\
Henece A < 1 and conclusion | s not truc
But § = P and conclusion 171 15 true
194, 2. Given statement:
PepA2S2T=F<D
Hence P and T can’t be comparced and
conclusion | does not [ollow. Ncither can [
and S. Hence conclusion 1l does not follow
195, 4: Given statemenls:
Q<P=2T=>8
P<N<L
From (1) and (ii),
NzPz2T>SorN>S. Hence conclusion | i
lruc.
Also, O<P<N<LorO<L
Hence conclusion 1l doesn’t follow
(196-200):

Floor

(1)
(41)

A1)
(1)

h:tw::n the floors ul th fricnds given in
each pair.

arc two floors
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